

Acta Universitatis Palackianae Olomucensis. Facultas Rerum
Naturalium. Mathematica

Bertram Mond; Josip E. Pečarić
Some matrix inequalities of London type

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 35 (1996), No. 1, 137--148

Persistent URL: <http://dml.cz/dmlcz/120341>

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1996

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

Some Matrix Inequalities of London Type

B. MOND¹, J. E. PEČARIĆ²

¹*Department of Mathematics, La Trobe University,
Bundoora, Victoria, 3083, Australia.*

²*Faculty of Textile Technology, University of Zagreb,
Zagreb, Croatia*

(Received March 3, 1995)

Abstract

D. London gave an inequality involving a semi-convex function of m commuting matrices. Here similar and related inequalities are obtained for convex functions. Corresponding generalizations of other classical inequalities are also given.

Key words: Matrix inequalities, matrix functions, Hölder's inequality.

1991 Mathematics Subject Classification: 15A45

1 Introduction

D. London [1] considered for commuting matrices A_1, \dots, A_m and $x \in C^n$, $x \neq 0$, the following inequality

$$f\left(\frac{(A_1x, x)}{(x, x)}, \dots, \frac{(A_mx, x)}{(x, x)}\right) \leq \frac{(f(A_1, \dots, A_m)x, x)}{(x, x)} \quad (1)$$

where f is a semi-convex function.

In this paper we shall consider similar inequalities for convex functions but for more m -tuples of matrices, as well as many related inequalities. Some of our results are further generalizations of results obtained in [2] (see also [3]).

2 Preliminaries

Let $A \in C^{n \times n}$ be a normal matrix, i.e., $A^*A = AA^*$. Here A^* means \bar{A}^t , the transpose conjugate of A . There exists [4] a unitary matrix U such that

$$A = U^*[\lambda_1, \lambda_2, \dots, \lambda_n]U \tag{2}$$

where $[\lambda_1, \dots, \lambda_n]$ is the diagonal matrix $(\lambda_j \delta_{ij})$, and where $\lambda_1, \lambda_2, \dots, \lambda_n$ are the eigenvalues of A , each appearing as often as its multiplicity. A is Hermitian if and only if $\lambda_i, i \in I_n = \{1, 2, \dots, n\}$ are real. If A is Hermitian and all λ_i are strictly positive, then A is said to be positive definite. Assume now that $f(\lambda_i) \in C, i \in I_n$ is well defined. Then $f(A)$ may be defined by (see e.g. [4, p. 71] or [5, p. 90])

$$f(A) = U^*[f(\lambda_1), f(\lambda_2), \dots, f(\lambda_n)]U. \tag{3}$$

As before, if $f(\lambda_i), i \in I_n$ are all real, then $f(A)$ is Hermitian. If, also, $f(\lambda_i) > 0, i \in I_n$, then $f(A)$ is positive definite.

We note that for the inner product

$$(f(A)x, x) = \sum_{i=1}^n |y_i|^2 f(\lambda_i) \tag{4}$$

where $y \in C^n, y = Ux$ and so $\sum_{i=1}^n |y_i|^2 = \sum_{i=1}^n |x_i|^2$.

If A is positive definite, so that $\lambda_i > 0, i \in I_n$ and $f(t) = t^r$ where $t > 0$ and $r \in R$, we have $f(A) = A^r$.

3 Inequalities for Hermitian matrices

Theorem 1 *Let $f : J_1 \times J_2 \times \dots \times J_m \rightarrow R$ be a convex function and let $g_{ij} : I_j \rightarrow J_i(I_j, J_i \subset R, j = 1, \dots, k; i = 1, \dots, m)$ be given functions. Further let $A_j, j = 1, \dots, k$ be Hermitian matrices with eigenvalues λ_{ji} in $I_j; x_j \in C^n, j = 1, \dots, k$ with $\sum_{j=1}^k (x_j, x_j) = 1$. Then*

$$\begin{aligned} & f \left\{ \sum_{j=1}^k (g_{1j}(A_j)x_j, x_j), \dots, \sum_{j=1}^k (g_{mj}(A_j)x_j, x_j) \right\} \\ & \leq \sum_{j=1}^k (f(g_{1j}(A_j), \dots, g_{mj}(A_j))x_j, x_j). \end{aligned} \tag{5}$$

Proof First we note that

$$\sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 = \sum_{j=1}^k (x_j, x_j) = 1$$

where y_{ji} is defined in a manner corresponding to (4). We now have, by (3)

$$\begin{aligned}
 & f \left\{ \sum_{j=1}^k (g_{1j}(A_j)x_j, x_j), \dots, \sum_{j=1}^k (g_{mj}(A_j)x_j, x_j) \right\} \\
 &= f \left\{ \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_{1j}(\lambda_{ji}), \dots, \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_{mj}(\lambda_{ji}) \right\} \\
 &\leq \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 f(g_{1j}(\lambda_{ji}), \dots, g_{mj}(\lambda_{ji})) \\
 &= \sum_{j=1}^k (f(g_{1j}(A_j), \dots, g_{mj}(A_j))x_j, x_j) \tag{6}
 \end{aligned}$$

where we have used the well known Jensen inequality for convex functions of several variables. □

Remark 1 For $k = 1$, we have, for $x \neq 0$, the inequality

$$f \left\{ \frac{(g_1(A)x, x)}{(x, x)}, \dots, \frac{(g_m(A)x, x)}{(x, x)} \right\} \leq (f(g_1(A), \dots, g_m(A))x, x) / (x, x). \tag{7}$$

For $m = 2$, this is Theorem 7 from [2]. Moreover, (7) is equivalent to (5). Indeed, using the classical Jensen inequality and this result, we have, assuming, without loss of generality, that all $x_j \neq 0$,

$$\begin{aligned}
 & f \left\{ \sum_{j=1}^k (g_{1j}(A_j)x_j, x_j), \dots, \sum_{j=1}^k (g_{mj}(A_j)x_j, x_j) \right\} \\
 &= f \left\{ \frac{\sum_{j=1}^k (x_j, x_j) \frac{(g_{1j}(A_j)x_j, x_j)}{(x_j, x_j)}}{\sum_{j=1}^k (x_j, x_j)}, \dots, \frac{\sum_{j=1}^k (x_j, x_j) \frac{(g_{mj}(A_j)x_j, x_j)}{(x_j, x_j)}}{\sum_{j=1}^k (x_j, x_j)} \right\} \\
 &\leq \frac{\sum_{j=1}^k (x_j, x_j) f \left\{ \frac{(g_{1j}(A_j)x_j, x_j)}{(x_j, x_j)}, \dots, \frac{(g_{mj}(A_j)x_j, x_j)}{(x_j, x_j)} \right\}}{\sum_{j=1}^k (x_j, x_j)} \quad \text{(by Jensen's inequality)} \\
 &\leq \sum_{j=1}^k (x_j, x_j) \frac{(f(g_{1j}(A_j), \dots, g_{mj}(A_j))x_j, x_j)}{(x_j, x_j)} \quad \text{(by (7))} \\
 &= \sum_{j=1}^k (f(g_{1j}(A_j), \dots, g_{mj}(A_j))x_j, x_j).
 \end{aligned}$$

The following results can be proved similarly.

Theorem 2 (Hölder's Inequality) Let A_j ($j = 1, \dots, k$) be normal matrices with eigenvalues λ_{ji} in I_j and let $g_j, h_j : I_j \rightarrow R_+$ ($j = 1, \dots, k$) be given functions. Let p, q be two non-zero real numbers such that $p^{-1} + q^{-1} = 1$; $x_j \in C^n$, $j = 1, \dots, k$, not all $x_j = 0$. Then

(a) if p, q are positive,

$$\sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) \leq \left[\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right]^{1/p} \left[\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right]^{1/q}. \quad (8)$$

(b) If either p or q is negative, then the reverse inequality in (8) holds.

Hölder's inequality can be given for several functions (see, e.g., [6]) as follows:

Theorem 3 Let r_i , $i = 1, \dots, s$ be non-zero real numbers such that

$$\sum_{i=1}^s r_i^{-1} = 1;$$

let A_j , $j = 1, \dots, k$ be normal matrices with eigenvalues in $J_j(\subset C)$ and let $f_{ij} : J_j \rightarrow R_+$ ($i = 1, \dots, s$, $j = 1, \dots, k$) be given functions, with $x_j \in C^n$, ($j = 1, \dots, k$). Then

(a) If $r_i > 0$, $i = 1, \dots, s$

$$\sum_{j=1}^k \left(\left(\prod_{i=1}^s f_{ij} \right) (A_j)x_j, x_j \right) \leq \prod_{i=1}^s \left(\sum_{j=1}^k (f_{ij}^{r_i}(A_j)x_j, x_j) \right)^{1/r_i}. \quad (9)$$

(b) If $r_1 > 0$, $r_i < 0$, ($i = 2, \dots, s$) then the reverse inequality holds in (9).

Remark 2 By the substitutions $g \rightarrow g^r$, $h \rightarrow h^r$, $p \rightarrow p/r$, $q \rightarrow q/r$, we can obtain an analogous result to Theorem 2 in the case $p^{-1} + q^{-1} = r^{-1}$.

Theorem 4 (Minkowski's Inequality) Let A_j , $j = 1, \dots, k$ be normal matrices with eigenvalues from $J_j(\subset C)$ and let $g_j, h_j : J_j \rightarrow R_+$ ($j = 1, \dots, k$) be two positive functions. If $p \geq 1$, then

$$\left\{ \sum_{j=1}^k ((g_j + h_j)^p(A_j)x_j, x_j) \right\}^{1/p} \leq \left\{ \sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right\}^{1/p} + \left\{ \sum_{j=1}^k (h_j^p(A_j)x_j, x_j) \right\}^{1/p}. \quad (10)$$

If $p < 1$, $p \neq 0$, then inequality (10) is reversed.

Remark 3 As in Remark 1, we can prove Theorems 2–4 by using Theorems 9–11 from [2], respectively, i.e. we have that the corresponding theorems are equivalent.

The following three theorems are consequences of results from [7]:

Theorem 5 *Let the conditions of Theorem 2 be satisfied with*

$$0 < m \leq g_j(\lambda_{ji})h_j(\lambda_{ji})^{-q/p} \leq M,$$

$i = 1, \dots, n; j = 1, \dots, k$. Then, for $p > 1$,

$$\begin{aligned} (M - m) \sum_{j=1}^k (g_j^p(A_j)x_j, x_j) + (mM^p - Mm^p) \sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \\ \leq (M^p - m^p) \sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j). \end{aligned} \tag{11}$$

If $p < 0$, (11) also holds; while for $0 < p < 1$, the reverse inequality holds.

Theorem 6 *Let all the conditions of Theorem 5 be satisfied. If $p > 1$, then*

$$\sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) \geq K \left(\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right)^{1/p} \left(\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right)^{1/q} \tag{12}$$

where K is given by

$$K = |p|^{1/p} |q|^{1/q} (M - m)^{1/p} |mM^p - Mm^p|^{1/q} |M^p - m^p|^{-1}. \tag{13}$$

If $p < 0$ or $0 < p < 1$, the reverse inequality in (12) holds.

Proof We have, noting (5);

$$\begin{aligned} \sum_{j=1}^k ((g_j h_j)(A_j)x_j, x_j) &= \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_j(\lambda_{ji}) h_j(\lambda_{ji}) \\ &\leq K \left(\sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_j^p(\lambda_{ji}) \right)^{1/p} \left(\sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 h_j^q(\lambda_{ji}) \right)^{1/q} \\ &= K \left(\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right)^{1/p} \left(\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right)^{1/q} \end{aligned}$$

where we have used a converse of Hölder’s inequality. □

Theorem 7 *Let the conditions of Theorem 4 be satisfied with*

$$0 < m \leq G_j(\lambda_{ji}) \leq M, \quad 0 < m \leq H_j(\lambda_{ij}) \leq M$$

for $j = 1, \dots, k, i = 1, \dots, n$ where

$$G_j = g_j(g_j + h_j)^{-q/p}, \quad H_j = h_j(g_j + h_j)^{-q/p}.$$

Then for $p > 1$

$$\left[\sum_{j=1}^k ((g_j + h_j)^p (A_j)x_j, x_j) \right]^{1/p} \geq K \left\{ \left[\sum_{j=1}^k (g_j^p (A_j)x_j, x_j) \right]^{1/p} + \left[\sum_{j=1}^k (h_j^p (A_j)x_j, x_j) \right]^{1/p} \right\}, \quad (14)$$

where K is defined by (13). If $p < 1, p \neq 0$, the reverse inequality holds.

Another converse of Hölder's inequality can be obtained as a consequence of Theorem 2 of [8].

Theorem 8 *Let the conditions of Theorem 2 be satisfied with $p > 1$ and*

$$m \leq g_j^{1/q}(\lambda_{ji})/h_j^{1/p}(\lambda_{ji}) \leq M$$

($j = 1, \dots, k; i = 1, \dots, n$). Set $\gamma = M/m$. Then

$$\begin{aligned} & \left\{ \left[\sum_{j=1}^k (g_j^p (A_j)x_j, x_j) \right] / \left[\sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) \right] \right\}^{1/p} \\ & - \left\{ \left[\sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) \right] / \left[\sum_{j=1}^k (h_j^q (A_j)x_j, x_j) \right] \right\}^{1/q} \\ & \leq [\theta M^p + (1 - \theta)m^p]^{1/p} - [\theta M^{-q} + (1 - \theta)m^{-q}]^{-1/q} \end{aligned} \quad (15)$$

where θ is the unique solution in $(0, 1)$ of

$$q(\gamma^p - 1)[x(\gamma^p - q) + 1]^{-1/q} + p(\gamma^{-q} - 1)[x(\gamma^{-q} - 1) + 1]^{-(1/q)-1} = 0.$$

Remark 4 For $k = 1$, Theorems 5–8 give Theorems 12–15 from [2], respectively.

Recently, another converse of Hölder’s inequality was obtained in [9] (see also [10]). Using a discrete case of this result, we obtain the following:

Theorem 9 *Let the conditions of Theorem 2 be satisfied with $p > 1$ and*

$$0 < a \leq g_j(\lambda_{ji}) \leq A, \quad 0 < b \leq h_j(\lambda_{ji}) \leq B$$

($j = 1, \dots, k; i = 1, \dots, n$). Then

$$\left[\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right]^{1/p} \left[\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right]^{1/q} \leq T \sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) \quad (16)$$

where T is given by

$$T = \max \left\{ \frac{a^p + \frac{B^q}{a}}{aB}, \frac{\frac{A^p}{a} + b^q}{Ab} \right\}. \quad (17)$$

Remark 5 Moreover, as in [10], we note that the following interpolation of (16) holds:

$$\begin{aligned} & \left[\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right]^{1/p} \left[\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right]^{1/q} \\ & \leq \frac{1}{p} \left[\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right] + \frac{1}{q} \left[\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right] \leq T \sum_{j=1}^k ((g_j h_j)(A_j)x_j, x_j). \end{aligned} \quad (18)$$

Indeed we have

$$\begin{aligned} T \sum_{j=1}^k ((g_j h_j)(A_j)x_j, x_j) &= T \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_j(\lambda_{ji}) h_j(\lambda_{ji}) \\ &= \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 (T g_j(\lambda_{ji}) h_j(\lambda_{ji})) \\ &\geq \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 \left(\frac{1}{p} g_j^p(\lambda_{ji}) + \frac{1}{q} h_j^q(\lambda_{ji}) \right) \quad (\text{by a Lemma from [9]}) \\ &= \frac{1}{p} \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 g_j^p(\lambda_{ji}) + \frac{1}{q} \sum_{j=1}^k \sum_{i=1}^n |y_{ji}|^2 h_j^q(\lambda_{ji}) \\ &= \frac{1}{p} \sum_{j=1}^k (g_j^p(A_j)x_j, x_j) + \frac{1}{q} \sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \\ &\geq \left(\sum_{j=1}^k (g_j^p(A_j)x_j, x_j) \right)^{1/p} \left(\sum_{j=1}^k (h_j^q(A_j)x_j, x_j) \right)^{1/q} \quad (\text{by the Arithmetic-geometric inequality}). \end{aligned}$$

A discrete case of the the well known Grüss inequality gives the following ([11, p. 70]):

Theorem 10 *Let A_j ($j = 1, \dots, k$) be normal matrices with eigenvalues $\lambda_{ji} \in J_j (\subset C)$, $j = 1, \dots, k$; $i = 1, \dots, n$. Further, let $g_j, h_j : J_j \rightarrow R$ ($j = 1, \dots, k$) be functions such that*

$$\phi \leq g_j(\lambda_{ji}) \leq \Phi, \quad \gamma \leq h_j(\lambda_{ji}) \leq \Gamma,$$

($i = 1, \dots, n$; $j = 1, \dots, k$).

If $x_j \in C^n$, $j = 1, \dots, k$ with $\sum_{j=1}^k (x_j, x_j) = 1$, then

$$\left| \sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j) - \sum_{j=1}^k (g_j(A_j)x_j, x_j) \sum_{j=1}^k (h_j(A_j)x_j, x_j) \right| \leq \frac{1}{4}(\Phi - \phi)(\Gamma - \gamma). \quad (19)$$

Analogously, using the discrete version [12] of Karamata's inequality, we get:

Theorem 11 *Let the conditions of Theorem 10 be satisfied but with $\phi > 0$, $\gamma > 0$. Set*

$$K = \frac{\sqrt{\phi\gamma} + \sqrt{\Phi\Gamma}}{\sqrt{\phi\Gamma} + \sqrt{\Phi\gamma}} \quad (\geq 1),$$

then

$$K^{-2} \leq \frac{\sum_{j=1}^k (g_j(A_j)x_j, x_j) \sum_{j=1}^k (h_j(A_j)x_j, x_j)}{\sum_{j=1}^k ((g_j \cdot h_j)(A_j)x_j, x_j)} \leq K^2. \quad (20)$$

4 Inequalities for commuting matrices

The following result is valid [4, p. 77]:

If A_j , $j = 1, \dots, m$ are pairwise commuting Hermitian matrices, then there exists a Hermitian matrix H and m polynomials $p_j(t)$ ($j = 1, \dots, m$) with real coefficients such that

$$A_j = p_j(H) \quad (j = 1, \dots, m). \quad (21)$$

Using this and previous results we can obtain related results for commuting Hermitian matrices.

Theorem 12 Let $f : J_1 \times J_2 \times \dots \times J_m \rightarrow R$ be a convex function and let $\bar{A}_j = (A_{1j}, \dots, A_{mj})$ be an m -tuple of m commuting Hermitian matrices for every $j = 1, \dots, k$. Let the eigenvalues of A_{ji} be in J_i ; $x_j \in C^n$, $j = 1, \dots, k$ with $\sum_{j=1}^k (x_j, x_j) = 1$. Then

$$f \left\{ \sum_{j=1}^k (A_{1j} x_j, x_j), \dots, \sum_{j=1}^k (A_{mj} x_j, x_j) \right\} \leq \sum_{j=1}^k (f(A_{1j}, \dots, A_{mj}) x_j, x_j). \quad (22)$$

Proof By (21), we have a set of polynomials with real coefficients $\{g_{ij}\}$, $i = 1, \dots, m$; $j = 1, \dots, k$ such that, for every $j = 1, \dots, k$

$$A_{ij} = g_{ij}(A_j) \quad i = 1, \dots, m$$

where A_j is a Hermitian matrix. Thus, (22) becomes (5) which has already been established. \square

Remark 6 Similarly (7) gives for commuting matrices A_1, \dots, A_m , $x \neq 0$, the inequality (1), i.e.,

$$f \left(\frac{(A_1 x, x)}{(x, x)}, \dots, \frac{(A_m x, x)}{(x, x)} \right) \leq \frac{(f(A_1, \dots, A_m) x, x)}{(x, x)}. \quad (23)$$

Note that this inequality was considered in [1] but for a wider class of semi-convex functions. Thus, we can use a result from [1] to obtain (23) for convex f , and then, as in Remark 1, we can use Jensen's inequality and (23) in the proof of Theorem 12.

Theorem 13 Let A_j, B_j be two commutative positive semi-definite Hermitian matrices for each $j = 1, \dots, k$. Let p, q be two non-zero real numbers such that $p^{-1} + q^{-1} = 1$, $x_j \in C^n$, $j = 1, \dots, k$, not all $x_j = 0$, then

(a) If p, q are positive

$$\sum_{j=1}^k (A_j x_j, B_j x_j) \leq \left[\sum_{j=1}^k (A_j^p x_j, x_j) \right]^{1/p} \left[\sum_{j=1}^k (B_j^q x_j, x_j) \right]^{1/q}. \quad (24)$$

(b) If either p or q is negative, then the reverse inequality in (24) holds.

This is a similar consequence of Theorem 2. In the same manner, Theorems 3-11 give, respectively

Theorem 14 Let r_i , $i = 1, \dots, s$ be defined as in Theorem 3 and let $\bar{A}_j = (A_{1j}, \dots, A_{sj})$ be an s -tuple of s commuting positive semidefinite Hermitian matrices for every $j = 1, \dots, k$. Let $x_j \in C^n$ ($j = 1, \dots, k$). Then

(a) If $r_i > 0, i = 1, \dots, s$

$$\sum_{j=1}^k \left(\left(\prod_{i=1}^s A_{ij} \right) x_j, x_j \right) \leq \prod_{i=1}^s \left(\sum_{j=1}^k (A_{ij}^{r_i} x_j, x_j) \right)^{1/r_i} \quad (25)$$

(b) If $r_1 > 0, r_i < 0 (i = 2, \dots, s)$, then the reverse inequality holds in (25).

Theorem 15 Let A_j, B_j be two commutative positive semidefinite Hermitian matrices for each $j = 1, \dots, k$. If $p \geq 1$, then

$$\left\{ \sum_{j=1}^k ((A_j + B_j)^p x_j, x_j) \right\}^{1/p} \leq \left\{ \sum_{j=1}^k (A_j^p x_j, x_j) \right\}^{1/p} + \left\{ \sum_{j=1}^k (B_j^p x_j, x_j) \right\}^{1/p} \quad (26)$$

If $p < 0, p \neq 0$, then inequality (26) is reversed.

Theorem 16 Let the conditions of Theorem 13 be satisfied with

$$0 < m \leq \lambda_{ij}^{-q/p} \leq M,$$

($i = 1, \dots, n; j = 1, \dots, k$) where $\lambda_{j1}, \dots, \lambda_{jn}$ are eigenvalues of A_j and $\mu_{j1}, \dots, \mu_{jn}$ are eigenvalues of B_j . Then, for $p > 1$,

$$\begin{aligned} (M - m) \sum_{j=1}^k (A_j^p x_j, x_j) + (mM^p - Mm^p) \sum_{j=1}^k (B_j^q x_j, x_j) \\ \leq (M^p - m^p) \sum_{j=1}^k ((A_j B_j) x_j, x_j). \end{aligned} \quad (27)$$

If $p < 0$, (27) also holds; while for $0 < p < 1$, the reverse inequality holds.

Theorem 17 Let all the conditions of Theorem 16 be satisfied. If $p > 1$, then

$$\sum_{j=1}^k (A_j x_j, B_j x_j) \geq K \left(\sum_{j=1}^k (A_j^p x_j, x_j) \right)^{1/p} \left(\sum_{j=1}^k (B_j^q x_j, x_j) \right)^{1/q} \quad (28)$$

where K is given by (13). If $p < 0$ or $0 < p < 1$, the reverse inequality in (28) holds.

Theorem 18 Let the conditions of Theorem 15 be satisfied with

$$0 < m \leq G(\lambda_{ji}, \mu_{ji}) \leq M; \quad 0 < m \leq G(\mu_{ji}, \lambda_{ji}) \leq M$$

for $j = 1, \dots, k; i = 1, \dots, n$ where $G(x, y) = x(x + y)^{-q/p}$ and where $\{\lambda_{ji}\}$ and $\{\mu_{ji}\}$ are eigenvalues of A_j and B_j respectively. Then for $p > 1$

$$\left[\sum_{j=1}^k ((A_j + B_j)^p x_j, x_j) \right]^{1/p} \geq K \left\{ \left[\sum_{j=1}^k (A_j^p x_j, x_j) \right]^{1/p} + \left[\sum_{j=1}^k (B_j^p x_j, x_j) \right]^{1/p} \right\} \quad (29)$$

where K is defined by (13). If $p < 1, p \neq 0$, the reverse inequality holds.

Theorem 19 Let the conditions of Theorem 13 be satisfied with $p \geq 1$ and

$$m \leq \lambda_{ji}^{1/q} / \mu_{ji}^{1/p} \leq M$$

($j = 1, \dots, k; i = 1, \dots, n$) and λ_{ji}, μ_{ji} are defined as in the previous theorems. Set $\gamma = M/m$. Then

$$\begin{aligned} & \left\{ \left[\sum_{j=1}^k (A_j^p x_j, x_j) \right] / \left[\sum_{j=1}^k (A_j x_j, B_j x_j) \right] \right\}^{1/p} \\ & - \left\{ \left[\sum_{j=1}^k (A_j x_j, B_j x_j) \right] / \left[\sum_{j=1}^k (B_j^q x_j, x_j) \right] \right\}^{1/q} \\ & \leq [\theta M^p + (1 - \theta)m^p]^{1/p} - [\theta M^{-q} + (1 - \theta)m^{-q}]^{-1/q} \end{aligned} \quad (30)$$

where θ is defined as in Theorem 8.

Theorem 20 Let the conditions of Theorem 13 be satisfied with $p > 1$ and

$$a \leq \lambda_{ji} \leq A, \quad b \leq \mu_{ji} \leq B,$$

($j = 1, \dots, k; i = 1, \dots, n$) and λ_{ji}, μ_{ji} are the eigenvalues of A_j and B_j , $j = 1, \dots, k$. Then

$$\left[\sum_{j=1}^k (A_j^p x_j, x_j) \right]^{1/p} \left[\sum_{j=1}^k (B_j^q x_j, x_j) \right]^{1/q} \leq T \sum_{j=1}^k (A_j x_j, B_j x_j) \quad (31)$$

where T is given by (17).

Theorem 21 Let A_j, B_j be Hermitian matrices with eigenvalues from $[\phi, \Phi]$ and $[\gamma, \Gamma]$ respectively. If $x_j \in C^n, j = 1, \dots, k$ with $\sum_{j=1}^k (x_j, x_j) = 1$, then

$$\left| \sum_{j=1}^k (A_j x_j, B_j x_j) - \sum_{j=1}^k (A_j x_j, x_j) \sum_{j=1}^k (B_j x_j, x_j) \right| \leq \frac{1}{4} (\Phi - \phi)(\Gamma - \gamma). \quad (32)$$

Theorem 22 Let the conditions of Theorem 21 be satisfied but with $\phi > 0, \gamma > 0$. Further let K be defined as in Theorem 11. Then

$$K^{-2} \leq \frac{\sum_{j=1}^k (A_j x_j, x_j) \sum_{j=1}^k (B_j x_j, x_j)}{\sum_{j=1}^k (A_j x_j, B_j x_j)} \leq K^2.$$

References

- [1] London, D.: *Inequalities in quadratic forms*. Duke Math. J. **33** (1966), 511–522.
- [2] Mond, B., Pečarić, J. E.: *Classical Inequalities for Matrix Functions*. Utilitas Math. **46** (1994), 155–166.
- [3] Mond, B., Pečarić, J. E.: *Generalization of a matrix inequality of Ky Fan*. J. Math. Anal. Appl. **190** (1995), 244–247.
- [4] Marcus, M., Minc, H.: *A Survey of Matrix Theory and Inequalities*. Allyn and Bacon, Boston, 1964.
- [5] Bellman, R.: *Introduction to Matrix Analysis*. McGraw-Hill, New York, 1960.
- [6] Vasić, P. M., Pečarić, J. E.: *On the Jensen inequality for monotone functions, I and II*. An. Univ. Timisoara Ser. St. Mat. **17**, 1 (1979), 95–104; An. Univ. Timisoara Ser. St. Mat. **18**, 1 (1980), 95–104.
- [7] Beesack, P. R., Pečarić, J. E.: *On Jessen's inequality for convex functions*. J. Math. Anal. Appl. **110** (1985), 536–552.
- [8] Shisha, O., Mond, B.: *Bounds on Differences of Means*. In: *Inequalities*, Academic Press Inc., 1967, pp. 293–308.
- [9] Zhuang, Y-D.: *On Inverses of the Hölder Inequality*. J. Math. Anal. Appl. **161** (1991), 566–575.
- [10] Mond, B., Pečarić, J. E.: *Remark on a recent converse of Hölder's inequality*. J. Math. Anal. Appl. **181** (1994), 280–281.
- [11] Mitrinovic, D. S.: *Analytic Inequalities*. Springer Verlag, Berlin-Heidelberg-New York, 1970.